Ovopx:

1. No& KAVELS TIC TLXPXKKTW SLXLPECELS

42:7 = 36:6= 48:8=
54:9 = 72:8= 18:3=
81:9= 63:7= 24:6=

2. N& KAVELS T XTEAEIC SLXLPEBELS STLUWC TO TLXPXSELY UK.

45:6= 7 kot vTtéAoLTto 3 38:7 = _ KoL VTTOAOLTTO __
80:9 = _ KL VTtéAOLTTO___ 70:8 = __ KL VTTOAOLTTO __
94:10=__ K&L VTTOAOLTTO___ 62:7 = _ KL VTTOAOLTTO __
58: 8= _ K&l VTLOAOLTTO___ 34:8= = _ KXL VTLOAOLTTO __

3. Se plo ta&n elval 26 pxOnTéc. O Sx6KkoAog BEAEL v Tov
Xwel6eL 6 3x8eC, 4xSeG, SASeG KoL GXOEG. TTO6EC 6ELPES
Bx XpeXETOVY 6€ KXOE TLEPLTLTWEY;

3 €C

40e§

50€Q

6 KES

4. No& GUUTIANPWEELS T KEVX
__=(sX7)+2 __=(8X4)+3
45=(7X )+ _ 24=(6X_ )+ __

S2=(_XT)y+___ 383=(_X9a9)+ _




